
Calcul – Le 14 avril 

Correction  

 

◼ Exercice 1 page 86   

784,2 : 10 = 78,42 

1 zéro, on avance la virgule d’1 rang 

562,3 : 100 = 5,623  

2 zéros, on avance la virgule de 2 rangs 

823,67 : 10 = 82,367 

1 zéro, on avance la virgule d’1 rang 

4 681,2 : 1 000 = 4,6812 

3 zéros, on avance la virgule de 3 rangs 

08,42 : 10 = 0,842 

1 zéro, on avance la virgule d’1 rang 

083,019 : 100 = 0,83019 

2 zéros, on avance la virgule de 2 rangs 

172,25 : 10 = 17,225 

1 zéro, on avance la virgule d’1 rang 

3 658,54 : 1 000 = 3,65854 

3 zéros, on avance la virgule de 3 rangs 

 

◼ Exercice 2 page 90 

 

 

 

 



◼ Exercice 3 page 90 

 

◼ Exercice 4 page 90  

 


